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1. The calt potential of the followng ¢onceéntmlion eell is caused By the concentration gradiend
betwraan the two chlonde solutions in the cell
Ag ] AgCIa  CI02 mol k™) 010,10 mok kg™ 3| AgCiz)] Ag
{a) Write the half-call reactions and the call reaction.
(b} Calcalare the elrotrometive foree of the sonocnitation cell at 25 ¥, assuming zere junction
pderition for the skl bridpe aml the activily cocfficicnts are onily.
fe) Which is the positive clectrode 7 1)
€. & zample of cihangl weightng 07563 g i5 bumed in 2 bomb calorimcter For whicly the b
eapacity, including the sumple, 3= 5643 § K7 A wmperatese rise from 20,62 10 2464 C iz
orbserved. () Wit ar2 e values of o, w, and AQ, alt per moole echanod 7 () Whit is the change
in the number of molzs of gaseons reapents per mole of eflanel 7 o) What is the valus of AH for
the rezctian 7 . (153
3. {2) Starling from the definilign of Joule-Thoanson coefficient, = (8T/EPY,, show that

iy
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and for g van der Waalz gas
- (2 r)
T s
(1) Calenlate AH for an tsotheomal compression of 1 mol B from 0.1 1o 25 bIPa at 300 K. Fake
CPm be 458, independent of detmperature, (E5%)

4. For paypen o 1 bar and 25 T, the collision diameter i 0.361 pm, Calowlate the meon fres path,
the most probable speed, meoan speed, rooi-moan-squers apeed, aod [Me pverage time between
ool lisions. (1596

5. Agsume the falfowing dada for the gaz-phase reaclian

WO + Cip - ZWNO0L

235 K
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(2} Find tee geder with respect (0 each reaclan! and find the rete constand.

(k) The initial concentratians of KO and C1, arc 004 mat Lt andd 0000 mol 17! respectively.

Caloulate the half-life znd the concetiration of Gl at ) =00 5, (0%}

6. Describe the fllowing terms bricdly

Gl Bovle tecpecaturs {3%)

() Inversion wemperaturs (3%)

(o} Relmation fme (3%}

i) Phawe culs {3%)

) Daemogis and asmotic pressuce (3%

¢F) Assumphions for Laogmuir adsorption isathemm (5%4)

2Riaaz-f



